
How to Troubleshoot a Chromebook Power Issue 

 

1. Check the charger: Make sure that your charger is connected to a working outlet. Also 

confirm that the three-pronged power cable is firmly connected to the power brick 

(shown below). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Connect the charger to the Chromebook. Open the lid of the Chromebook, tap the 

power button, and wait up to 20 seconds for the Chromebook to power on. 

 

 

 

 

 

 

 



3. If the Chromebook has not powered on after 20 seconds, hold the refresh key (circular 

arrow) for at least two seconds, then without releasing the refresh key, tap the power 

button and release both keys simultaneously. This should reset the Chromebook. 

4. If the Chromebook is still not powering on, close the lid, and allow the Chromebook to 

charge for at least 30 minutes. Then, repeat steps 1-3.  

 

5. If Step 4 does not yield any results, please contact the school that your child attends 

(Elementary School: (989) 465-6179 or High School: (989) 465-6171) and request a 

replacement Chromebook. You will need to drop the non-working Chromebook off at 

the appropriate office in order to receive a new one. 

 

If you have any other questions, please contact us at help@colemanschools.net 

https://www.google.com/search?gs_ssp=eJzj4tLP1TcwN7PItSw3YLRSNaiwsDAytEi2NDK3NLA0NEpOsTKosEyzTDEzSDYyT7IwNjCwTPWSTM7PSc1NzFNIBVKpeSWJRZUKxckZ-fk5ADYGF0E&q=coleman+elementary+school&rlz=1C1CHBF_enUS913US913&oq=coleman+ele&aqs=chrome.1.0i355i457j46i175i199l2j0j46i175i199j0l3.3862j0j7&sourceid=chrome&ie=UTF-8
https://www.google.com/search?safe=strict&rlz=1C1CHBF_enUS913US913&ei=ZD3iX6yqLMSvtAbH-pCoBA&q=coleman+high+school&oq=coleman+high+school&gs_lcp=CgZwc3ktYWIQAzIOCC4QxwEQrwEQyQMQkwIyAggAMgIIADICCAAyCAguEMcBEK8BMggILhDHARCvATICCAAyCAguEMcBEK8BMgIIADIICC4QxwEQrwE6BAgAEEc6EQguEMcBEK8BEMkDEJECEJMCOgUILhCxAzoFCAAQsQM6BAguEApQsqICWLGsAmCCrgJoAHACeACAAWWIAeoHkgEEMTAuMZgBAKABAaoBB2d3cy13aXrIAQjAAQE&sclient=psy-ab&ved=0ahUKEwis7KiqnuLtAhXEF80KHUc9BEUQ4dUDCA4&uact=5

